


cuts the y-axis)




X AND

WILL PLOT THE
ANE.

y-intercept is here')i 0 (where the graph cuts the y-axis)

j x-intercept is where y = 0 (where the graph cuts the x-axis)
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LINEAR FUNCTION

\\E)lAMPLE 1

\\gETCH THE FOLLOWING FUNCTION

ANSWER

A method is as follows:
1. Make sure the function is in standard form (y=...... )

2. Find the y-intercept by substituting x=0 into the given

function
y=2x+4
y=2.(0)+4
y=4

The coordinate to plot is (0;4)

3. Find the x-intercept by substituting y=0 into the given
function

y=2x+4

0=2x+4

—4 = 2x

—-2=Xx

The coordinate to plot is (-2;0)

4. Plot the pomts ona Cartesmn Plane




LINEAR FUNCTION

\EXAMPLE 1
%?TCH THE FOLLOWING FUNCTION

ANSWER

5. Join the points and extend the line.
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Forz + 2y —5=10:

We first write the equation in standard form: y = — 1z + 2. From this we see that the y-intercept is 2. The z-intercept
is 5.

For3z—y—-1=0:

We first write the equation in standard form: y = 3z — 1. From this we see that the y-intercept is — 1. The z-intercept
fé.

X-intercept

(5;0)

Graph 2
3x—y—1=0
Y-intercept
1)

X-intercept

)



LINEAR FUNCTION

Graph 1
x+2y—5=0

Y-intercept

(¢3)

X-intercept

(5;0)

Graph 2
3x—y—-1=0
Y-intercept
(0; —1)

X-intercept

)




